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QUESTION 1

What are three features of Pattern Matcher? (Choose three.)

A. The Pattern service can be started and stopped anytime inside the engine,
B. The Pattern service can only be run inside an Inference agent.

C. The Pattern service starts automatically when the engine starts.

D. The Pattern service can run in Inference agent or Query agent.

E. Each agent has a separate instance of the Pattern service.

Correct Answer: ADE

QUESTION 2

Which statement is true about Query agents?

A. A Query agent can execute rule functions, but not rules.

B. A Query agent can execute rules, but not rule functions.

C. A Query agent can store and serve cache data for the cluster.
D. A Query agent can have channels, but no destinations.

Correct Answer: A

QUESTION 3

Which two statements are true about a Fault Tolerant agent in standby mode? (Choose two.)
A. It maintains a passive RETE network.

B. It listens to events from channels.

C. It does not execute startup rule functions.

D. It updates working memory.

E. It reads and writes to cache.

Correct Answer: AC

QUESTION 4
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Which two are configured in the CDD file? (Choose two.)

A. Enable STDERR or STDOUT streams

B. The Processing Units that will run in the cluster

C. The physical machines that will run the Processing Units
D. Rule bases that will monitor the deployed Processing Units

Correct Answer: AB

QUESTION 5

A project requires that once an order event arrives, a corresponding Fulfillment event must follow within 10 minutes of
the order event. If this does not occur, an alert is raised. If the order event arrives on time, a notification is sent.

Which TIBCO BusinessEvents feature is most efficient for this job?
A. Pattern matching

B. Rule processing

C. Query processing

D. Cache management

Correct Answer: A
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